

Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

Results

I Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0001

Name of the Student : ABDHUL RAHEEM S

Father Name: SHABIRULLA Mother Name: RAHMATH NISHA

1	ENGLISH-I	Th.	3	5.00	15.00	С
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Mother Name : JANAKI



>>> Result Announced Date: 19/09/2025

I Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0014

Name of the Student : GOKULNATH G

Father Name: GOPALAKRISHNAN

2	INTRODUCTION TO PROBLEM SOLVING USING C	Th.	4	5.00	20.00	С
1	ENGLISH-I	Th.	3	6.00	18.00	В
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

I Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0017

Name of the Student : HARIPRASATH V

Father Name: VEERAN V Mother Name: MALARVIZHI V

1	ENGLISH-I	Th.	3	7.00	21.00	B+
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

I Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0029

Name of the Student: MOHAMMED ARIF A

Father Name: ABDUL HAMEED

Mother Name: SALMA NAATCHIYAL

1	ENGLISH-I	Th.	3	6.00	18.00	В
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Sl. No.

1

PONDICHERRY UNIVERSITY

Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

I Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0033

Name of the Student : PRAVINNA VALLI R

Th

Pr

Th.

Father Name: RAVICHANDIRAN

ENGLISH-I

	Moth	er Name :	MALATHI
Credit Hours	Grade Point	Credit Point	Grade
3	6.00	18.00	В

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.

Grievances (if any) may be communicated via Nodal Officer of the concerned College.

Subject Name



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

I Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0036 Name of the Student : RAGESH S

Father Name: SHANKAR K Mother Name: LAKSHMIS

Ĩ	ENGLISH-I	Th.	3	5.00	15.00	С
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home

Mother Name : SUDHA



>>> Result Announced Date: 19/09/2025

I Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0037

Name of the Student : RAGUBALAN R Father Name: RAJKUMAR

Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade
1	ENGLISH-I	Th.	3	000	000	F
2	PROGRAMMING IN C LAB	Th.	3	000	000	Fail
3	TAMIL-I	Th.	3	000	000	AB

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

I Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0038 Name of the Student : RAJESH S

Father Name: SUBRAMANIYAN S

Mother Name: NAGESHWARI S

2	ENGLISH-I TAMIL-I	Th.	3	4.00	12.00	F
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

I Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0049

Name of the Student: THUSHYANTHAN S

Father Name: SEKAR Mother Name: PUSHPA

1	ENGLISH-I	Th.	3	5.00	15.00	С
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

I Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0051 Name of the Student: VASIMA B

Father Name: BAVA BAHURUDEEN

Mother Name: SITHI HASINA PARVEEN

1	ENGLISH-I	Th.	3	6.00	18.00	В
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

I Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0054 Name of the Student : VISWAM S

Father Name: SUBRAMANIAN Mother Name: SANTHI

1	ENGLISH-I	Th.	3	5.00	15.00	С
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit Point	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.



Kalapet, Pondicherry

Home



>>> Result Announced Date: 19/09/2025

I Semester B.Sc. Computer Science JUNE 2025 Examinations

Reg. No.: 23CS0055 Name of the Student : YAKOB S

Father Name: SENTHIL Mother Name : ALICE MARY

ĭ	ENGLISH-I	Th.	3	4.00	12.00	P
Sl. No.	Subject Name	Th Pr	Credit Hours	Grade Point	Credit	Grade

College: 1001 - ARIGNAR ANNA GOVT. ARTS COLLEGE, Karaikal

Click here to view Subjectwise Details Print

Note: This is the provisional result, Pondicherry University is not responsible for any inadvertent error that may have crept in the results being published on NET. The results published on net are for immediate information to the examinees. These cannot be treated as original mark sheets.